Name: Date:

Teacher: Class:

- Comparing Numbers 201

What is a bow that is impossible to tie? A rainbow.

Use < (less than), > (Greater than) or = (equals) signs

to make each statement TRUE.

Examples: 10 5 10>5. 5 10 5«<10.
6 6 6=6.

1. 18 3 11.11_ 6
2. 5 1 12.5 8

3. 48 13.11_ 18
4. 19 12 14.12_ 7
5. 20__ 19 15.10__ 20
6. 17 5 16.15_ 12
7. 18 16 17.18 9
8. 4 4 18.11_ 9
9. 3 18 19.18 3
10.11 6 205 1
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1. 18> 3
2. 5>1

3. 4<8

4. 19 > 12
5. 20> 19
6. 17> 5
7. 18 > 16
8. 4=4

9. 3<18
10.11 > 6

Answer Key Date:

Teacher: Class:

Comparing Numbers 201

What is a bow that is impossible to tie? A rainbow.

Use < (less than), > (Greater than) or = (equals) signs

to make each statement TRUE.

Examples: 10 5 10>5. 5 10 5«<10.
6 6 6=6.

11.11 > 6

12.5< 8

13.11 < 18

14.12 > 7

15.10 < 20

16. 15 > 12

17.18 > 9

18.11 > 9

19.18 > 3

205> 1
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